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Which command attempts to repair a missing disk access record by finding the name of the device in the private region
and matching it to an existing disk media record?

A. vxdisk

B. vxdctl

C. vxreattach

D. vxrecover

Correct Answer: C

QUESTION 2

Refer to the exhibit.
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The appvol volume contains a Veritas File System (VXFS) file system and is mounted to /app. The volume has
experienced multiple disk failures.

What is the state of the data on the mounted file system?
A. unavailable

B. corrupted

C. partially available

D. fully accessible

Correct Answer: D

QUESTION 3

What is the namespace extension required to perform FileSnap over NFS?
A. ::clone:vxfs:

B. ::snap:vxfs:

C. :filesnap:vxfs:

D. ::ckptfile:vxfs:

Correct Answer: B

QUESTION 4

Which two Veritas Volume Manager (VxXVM) commands can be used for printing statistical information on one or more
disks? (Select two.)

A. vxdmpadm iostat
B. vxtrace

C. vxmemstat

D. vxstat

E. vxbench

Correct Answer: AD

QUESTION 5
Veritas File System (VXFS) is an extent based file system.

Which two pieces of information form the basis of an extent? (Select two.)
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A. inode number
B. offset

C. length

D. owner\\'s UID
E. block size

Correct Answer: BC
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